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 TrigonometryExercise4 Answers for No.9012
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 TrigonometryExercise4 Answers for No.9016
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( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30
1
2

.5










( )Tan 60 ( )Tan 15

1 ( )Tan 60 ( )Tan 15
( )( )Tan 45 1 .6















Cos


18







Cos

5 
18







Sin


18







Sin

5 
18















Cos


3

1
2

.7






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.8










2







Cos


8

2

1
















Cos


4

2
2

.9








( )Sin 70 ( )Cos 10 ( )Cos 70 ( )Sin 10









( )Sin 60

3
2

.10














Cos

7 
12







Cos


12







Sin

7 
12







Sin


12















Cos


2
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.1








( )Sin 

2 6
7

.2








( )Cos  

39
8

.3








( )Tan  

5 39
39

.4








( )Sin    

6 39
28

25
56

.5








( )Cos    

5 39
56

5 6
28

.6








( )Tan    

49 3 13
75

128 2 3
75

.7








( )Sin 2 

20 6
49

.8








( )Tan 2  

5 39
7
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.1








( )Cos 

55
8

.2








( )Sin  

5
3

.3








( )Tan 

5
2

.4








( )Sin   

1
4

55 5
24

.5








( )Cos    

55
12

5
8

.6








( )Tan   

128 5
175

27 5 11
175

.7








( )Sin 2  

3 55
32

.8 ( )( )Tan 2  4 5
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 TrigonometryExercise4 Answers for No.9018
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.1








( )Sin 105 

2
4

2 3
4

.2
















Cos

5 
12


2 3
4

2
4

.3














Tan


12

2 3 .4














Cot 

5 
12

 2 3

.5 ( )( )Tan ( )-165  2 3 .6








( )Cos ( )-345  

2
4

2 3
4

.7














Csc 


12

 2 3 2 .8








( )Sin ( )-285  

2
4

2 3
4
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.1










( )Tan 85 ( )Tan 25

1 ( )Tan 85 ( )Tan 25
( )( )Tan 60 3 .2







( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30
1
2

.3








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.4
















Cos


15







Cos

11 
60







Sin


15







Sin

11 
60

















Cos


4

2
2

.5






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.6










1 2







Sin


8

2 















Cos


4

2
2

.7
















Sin


3







Cos


12







Cos


3







Sin


12

















Sin


4

2
2

.8










2







Cos


12

2

1
















Cos


6

3
2

.9






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.10
















Cos

5 
18







Cos


9







Sin

5 
18







Sin


9

















Cos


6

3
2
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
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
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
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.1






( )Cos 
4
5

.2






( )Sin 

-3
5

.3






( )Tan 
3
4

.4 ( )( )Sin   0

.5






( )Cos  

7
25

.6






( )Tan  

24
7

.7






( )Sin 2 

-24
25

.8






( )Tan 2 

24
7
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.1








( )Cos  

39
8

.2








( )Sin 

3
2

.3 ( )( )Tan   3 .4








( )Sin   

5
16

3 39
16

.5








( )Cos   

39
16

5 3
16

.6








( )Tan   

16 3
9

5 3 13
9

.7








( )Sin 2  

3
2

.8








( )Tan 2 

5 39
7
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 TrigonometryExercise4 Answers for No.9036

, ,  Ans1

































.1








( )Cos 105 

2
4

2 3
4

.2
















Sin

5 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4
















Sin 

5 
12

 
2
4

2 3
4

.5 ( )( )Tan ( )-105  2 3 .6








( )Cos ( )-165   

2
4

2 3
4

.7














Csc 

19 
12

 2 2 3 .8 ( )( )Cot ( )-255   2 3
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.1
















Cos


36







Cos

5 
36







Sin


36







Sin

5 
36

















Cos


6

3
2

.2
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.3




























Tan

2 
9







Tan


9

1






Tan

2 
9







Tan


9















Tan


3

3 .4
















Cos

2 
9







Cos


18







Sin

2 
9







Sin


18

















Cos


6

3
2

.5






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.6






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.7










1 2







Sin


12

2 















Cos


6

3
2

.8










( )Tan 80 ( )Tan 20

1 ( )Tan 80 ( )Tan 20
( )( )Tan 60 3

.9








( )Sin 65 ( )Cos 20 ( )Cos 65 ( )Sin 20









( )Sin 45

2
2

.10








2 ( )Cos 22.5

2
1









( )Cos 45

2
2
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.1








( )Sin 

65
9

.2








( )Cos  

5
3

.3








( )Tan 

65
4

.4








( )Sin    

65 5
27

8
27

.5








( )Cos    

4 5
27

2 65
27

.6








( )Tan   

9 5
10

13 5
5

.7








( )Sin 2  

4 5
9

.8








( )Tan 2  

8 65
49
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.1








( )Sin  

35
6

.2








( )Cos 

2 10
7

.3








( )Tan  

3 10
20

.4








( )Sin    

35 10
21

1
14

.5








( )Cos    

10
21

35
14

.6








( )Tan    

49 5 7
275

216 5 2
275

.7








( )Sin 2 

35
18

.8








( )Tan 2  

12 10
31
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, ,  Ans5 ( )( )Cos 42 ( )( )Sqrt 0.5525 0.743    
















M
U
T

, ,  Ans6 ( )( )Sin 10 ( )( )Sqrt 0.0300 0.174    













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 TrigonometryExercise4 Answers for No.9037

, ,  Ans1





























.1
















Cos

7 
12


2
4

2 3
4

.2








( )Sin 75 

2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4 ( )( )Sec 255  2 3 2

.5














Csc

19 
12

 2 3 2 .6 ( )( )Tan ( )-105  2 3

.7
















Cos

11 
12

 
2
4

2 3
4

.8 ( )( )Cot ( )-285  2 3
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, ,  Ans2









































.1








( )Sin 65 ( )Cos 20 ( )Cos 65 ( )Sin 20









( )Sin 45

2
2

.2














Sin


18







Cos

4 
9







Cos


18







Sin

4 
9















Sin


2

1

.3
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.4















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.5








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.6






2







Sin


12







Cos


12















Sin


6

1
2

.7








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.8














Cos

17 
30







Cos


15







Sin

17 
30







Sin


15















Cos


2

0

.9






( )Cos 12 ( )Cos 48 ( )Sin 12 ( )Sin 48







( )Cos 60
1
2

.10










( )Tan 35 ( )Tan 5

1 ( )Tan 35 ( )Tan 5








( )Tan 30

3
3
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, , , ,  Ans3

































.1








( )Sin 

5
3

.2








( )Cos  

2 10
7

.3








( )Tan 

3 10
20

.4








( )Sin    

2
7

2 5 10
21

.5








( )Cos    

4 10
21

5
7

.6








( )Tan   

98 5
115

54 5 2
115

.7






( )Cos 2 

-1
9

.8








( )Tan 2 

12 10
31

     Ans4











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
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
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







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






.1








( )Sin 

65
9

.2








( )Cos 

3
2

.3








( )Tan  

65
4

.4








( )Sin   

65 3
18

2
9

.5








( )Cos    

2 3
9

65
18

.6








( )Tan   

16 65
17

81 3
17

.7






( )Cos 2 

-49
81

.8 ( )( )Tan 2   3
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, ,  Ans5 ( )( )Sin 4 ( )( )Sqrt 0.0050 0.070    
















M
U
T

, ,  Ans6 ( )( )Cos 14 ( )( )Sqrt 0.9415 0.970    

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

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
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 TrigonometryExercise4 Answers for No.9138

, ,  Ans1





























.1








( )Cos 15 

2
4

2 3
4

.2
















Sin

7 
12


2
4

2 3
4

.3 ( )( )Tan 75 2 3 .4
















Sin 

5 
12

 
2
4

2 3
4

.5 ( )( )Csc 285  2 3 2 .6 ( )( )Cot ( )-285  2 3

.7














Tan

11 
12

 2 3 .8














Sec

17 
12

 2 3 2

   









































:)
:(
M
a
t
h
@
M
U
T
:)
:(

, ,  Ans2









































.1










( )Tan 60 ( )Tan 15

1 ( )Tan 60 ( )Tan 15
( )( )Tan 45 1 .2

















Cos

5 
18







Cos


9







Sin

5 
18







Sin


9

















Cos


6

3
2

.3
















Cos


15







Cos

11 
60







Sin


15







Sin

11 
60

















Cos


4

2
2

.4








2 ( )Cos 15

2
1









( )Cos 30

3
2

.5













2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1 .6









1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.7
















Cos


12

2






Sin


12

2 















Cos


6

3
2

.8
















Sin

4 
9







Cos


9







Cos

4 
9







Sin


9

















Sin


3

3
2

.9










( )Tan 48 ( )Tan 12

1 ( )Tan 48 ( )Tan 12
( )( )Tan 60 3 .10









2







Sin


8







Cos


8

















Sin


4

2
2
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




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
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
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
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
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
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
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.1








( )Sin 

7
4

.2








( )Cos 

5
3

.3








( )Tan  

2 5
5

.4








( )Sin   

5 7
12

1
2

.5








( )Cos   

5
4

7
6

.6








( )Tan   

27 7
17

32 5
17

.7








( )Sin 2  

4 5
9

.8 ( )( )Tan 2  3 7
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.1








( )Cos  

3
2

.2








( )Sin  

65
9

.3








( )Tan  

3
3

.4








( )Sin    

2
9

65 3
18

.5








( )Cos   

2 3
9

65
18

.6








( )Tan    

16 65
17

81 3
17

.7








( )Sin 2  

3
2

.8








( )Tan 2  

8 65
49
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, ,  Ans5 ( )( )Sin 32 ( )( )Sqrt 0.2810 0.530    
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 TrigonometryExercise4 Answers for No.9602
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
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
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
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


.1








( )Cos 105 

2
4

2 3
4

.2
















Sin

5 
12


2
4

2 3
4

.3














Tan


12

2 3 .4 ( )( )Csc ( )-75   2 3 2

.5














Sec 

7 
12

 2 3 2 .6








( )Cos ( )-255  

2
4

2 3
4

.7














Cot

23 
12

 2 3 .8














Tan

19 
12

 2 3
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.1










( )Tan 72 ( )Tan 12

1 ( )Tan 72 ( )Tan 12
( )( )Tan 60 3 .2









2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.3














Sin


12







Cos

5 
12







Cos


12







Sin

5 
12















Sin


2

1 .4








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.5




























Tan


18







Tan

7 
36

1






Tan


18







Tan

7 
36















Tan


4

1 .6










2







Cos


12

2

1
















Cos


6

3
2

.7






( )Sin 50 ( )Cos 20 ( )Cos 50 ( )Sin 20







( )Sin 30
1
2

.8















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1

.9










1 2







Sin


8

2 















Cos


4

2
2

.10














Cos

7 
12







Cos


12







Sin

7 
12







Sin


12















Cos


2

0
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































.1








( )Sin 

35
6

.2








( )Cos  

39
8

.3








( )Tan  

5 39
39

.4








( )Sin    

35 39
48

5
48

.5








( )Cos    

39
48

5 35
48

.6








( )Tan   

45 39
209

16 35
209

.7








( )Sin 2 

35
18

.8








( )Tan 2  

5 39
7
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.1








( )Cos  

35
6

.2








( )Sin  

5
3

.3








( )Tan 

35
35

.4








( )Sin    

1
9

35 5
18

.5








( )Cos    

35
9

5
18

.6








( )Tan   

5 7
15

8 5
15

.7






( )Cos 2 

-1
9

.8








( )Tan 2 

35
17
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, ,  Ans5 ( )( )Sin 3 ( )( )Sqrt 0.0025 0.052    
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, ,  Ans6 ( )( )Cos 26 ( )( )Sqrt 0.8080 0.899    
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 TrigonometryExercise4 Answers for No.9616
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



























.1








( )Sin 15 

2 3
4

2
4

.2
















Cos

7 
12


2
4

2 3
4

.3














Tan

5 
12

2 3 .4














Sec 

11 
12

 2 3 2

.5 ( )( )Tan 285  2 3 .6 ( )( )Cot ( )-345  2 3

.7














Csc 

5 
12

 2 3 2 .8








( )Sin ( )-195  

2 3
4

2
4
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











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
















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








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
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
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
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.1








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.2










2







Cos


8

2

1
















Cos


4

2
2

.3








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.4






( )Cos 35 ( )Cos 25 ( )Sin 35 ( )Sin 25







( )Cos 60
1
2

.5










( )Tan 50 ( )Tan 20

1 ( )Tan 50 ( )Tan 20








( )Tan 30

3
3

.6








( )Sin 57 ( )Cos 12 ( )Cos 57 ( )Sin 12









( )Sin 45

2
2

.7
















Sin

11 
60







Cos


15







Cos

11 
60







Sin


15

















Sin


4

2
2

.8














Cos

7 
18







Cos


18







Sin

7 
18







Sin


18















Cos


3

1
2

.9


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.10






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6
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























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
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




.1








( )Sin 

65
9

.2








( )Cos  

2 6
7

.3








( )Tan 

65
4

.4








( )Sin    

20
63

2 65 6
63

.5








( )Cos    

8 6
63

5 65
63

.6








( )Tan    

196 65
1241

810 6
1241

.7








( )Sin 2 

20 6
49

.8








( )Tan 2  

8 65
49

     Ans4











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
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
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















.1








( )Cos 

2 10
7

.2








( )Sin 

2 14
9

.3








( )Tan  

3 10
20

.4








( )Sin   

5
21

4 10 14
63

.5








( )Cos    

10 10
63

2 14
21

.6








( )Tan    

243 5 2
248

245 2 7
248

.7








( )Sin 2  

20 14
81

.8








( )Tan 2  

12 10
31
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, ,  Ans5 ( )( )Sin 37 ( )( )Sqrt 0.3620 0.602    
















M
U
T

, ,  Ans6 ( )( )Cos 15 ( )( )Sqrt 0.9330 0.966    













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 TrigonometryExercise4 Answers for No.10152

, ,  Ans1





























.1
















Sin

5 
12


2
4

2 3
4

.2








( )Cos 105 

2
4

2 3
4

.3














Tan


12

2 3 .4














Cot 

19 
12

2 3

.5 ( )( )Sec 165  2 3 2 .6 ( )( )Tan ( )-75   2 3

.7
















Cos

17 
12


2
4

2 3
4

.8








( )Sin 345 

2
4

2 3
4
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, ,  Ans2

















































.1








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.2 ( )( )Sin 15 ( )Cos 75 ( )Cos 15 ( )Sin 75 ( )( )Sin 90 1

.3










( )Tan 50 ( )Tan 20

1 ( )Tan 50 ( )Tan 20








( )Tan 30

3
3

.4






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.5








2







Sin


8







Cos


8

















Sin


4

2
2

.6
















Cos

13 
36







Cos


9







Sin

13 
36







Sin


9

















Cos


4

2
2

.7










1 2







Sin


12

2 















Cos


6

3
2

.8










( )Tan 20 ( )Tan 40

1 ( )Tan 20 ( )Tan 40
( )( )Tan 60 3

.9
















Cos


10







Cos


15







Sin


10







Sin


15

















Cos


6

3
2

.10








2 ( )Cos 22.5

2
1









( )Cos 45

2
2
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, , , ,  Ans3









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
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
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
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















.1








( )Sin 

65
9

.2








( )Cos  

3
2

.3








( )Tan  

3
3

.4








( )Sin    

65 3
18

2
9

.5








( )Cos    

2 3
9

65
18

.6








( )Tan    

16 65
17

81 3
17

.7






( )Cos 2 

-49
81

.8 ( )( )Tan 2   3

     Ans4







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
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
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
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
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
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
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.1








( )Cos  

39
8

.2








( )Sin  

11
6

.3








( )Tan  

11
5

.4








( )Sin    

25
48

39 11
48

.5








( )Cos    

5 39
48

5 11
48

.6








( )Tan   

9 39
35

16 11
35

.7






( )Cos 2 

7
18

.8








( )Tan 2 

5 39
7
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, ,  Ans5 ( )( )Cos 32 ( )( )Sqrt 0.7190 0.848    
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







M
U
T

, ,  Ans6 ( )( )Sin 18 ( )( )Sqrt 0.0955 0.309    
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 TrigonometryExercise4 Answers for No.11738

, ,  Ans1






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
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
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



















.1








( )Cos 105 

2
4

2 3
4

.2












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
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Cos


15







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
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
Tan


8

2








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15
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 TrigonometryExercise4 Answers for No.11754
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.6










( )Tan 35 ( )Tan 5

1 ( )Tan 35 ( )Tan 5








( )Tan 30

3
3

.7






























Tan

5 
36







Tan


36

1






Tan

5 
36







Tan


36

















Tan


6

3
3

.8








( )Sin 65 ( )Cos 20 ( )Cos 65 ( )Sin 20









( )Sin 45

2
2

.9














Cos

17 
30







Cos


15







Sin

17 
30







Sin


15















Cos


2

0 .10








2 ( )Cos 22.5

2
1









( )Cos 45

2
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.1








( )Cos 

35
6

.2








( )Sin 

11
6

.3








( )Tan 

35
35

.4








( )Sin    

5
36

35 11
36

.5








( )Cos    

5 35
36

11
36

.6








( )Tan   

35
24

5 11
24

.7






( )Cos 2 

17
18

.8








( )Tan 2  

5 11
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35
6

.2








( )Sin  

2 2
3

.3 ( )( )Tan  2 2 .4



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


( )Sin    

35 2
9

1
18

.5








( )Cos    

35
18

2
9

.6








( )Tan    

35
3

8 2
3
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

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

( )Cos 2 

-7
9
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







( )Tan 2  

35
17
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 TrigonometryExercise4 Answers for No.11841
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.1








( )Sin 105 

2
4

2 3
4

.2
















Cos


12


2
4

2 3
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Cot ( )-75   2 3

.5
















Sin 

17 
12


2
4

2 3
4

.6








( )Cos 195  

2
4

2 3
4

.7














Csc 

19 
12

 2 2 3 .8














Tan 

7 
12

2 3
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.1








( )Sin 85 ( )Cos 25 ( )Cos 85 ( )Sin 25









( )Sin 60

3
2

.2
















Sin


6







Cos


12







Cos


6







Sin


12

















Sin


4

2
2

.3








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.4








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.5















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1 .6









( )Cos 10 ( )Cos 20 ( )Sin 10 ( )Sin 20









( )Cos 30

3
2

.7








1 2







Sin


8

2 















Cos


4

2
2

.8








( )Cos 60 ( )Cos 15 ( )Sin 60 ( )Sin 15









( )Cos 45

2
2

.9






2







Sin


12







Cos


12















Sin


6

1
2

.10
















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






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

Tan

7 
36







Tan

5 
36

1


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

Tan

7 
36



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
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Tan

5 
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
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





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Tan


3
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.1








( )Sin 

3
2

.2
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3
8

3 7
8

.5
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 TrigonometryExercise4 Answers for No.11842
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

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
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2
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
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
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
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







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
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
15
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
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
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
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
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 TrigonometryExercise4 Answers for No.11901
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 TrigonometryExercise4 Answers for No.11947
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 TrigonometryExercise4 Answers for No.11989
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( )Cos 

39
8

.2








( )Sin 

35
6

.3 ( )( )Tan   35 .4








( )Sin   

35 39
48

5
48

.5








( )Cos    

39
48

5 35
48

.6








( )Tan    

45 39
209

16 35
209

.7








( )Sin 2 

5 39
32

.8








( )Tan 2 

35
17
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.1








( )Cos 

5
3

.2








( )Sin  

3
2

.3








( )Tan  

2 5
5

.4








( )Sin   

1
3

3 5
6

.5








( )Cos    

5
6

3
3

.6








( )Tan   

8 5
7

9 3
7

.7








( )Sin 2  

4 5
9

.8 ( )( )Tan 2   3
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, ,  Ans5 ( )( )Sin 39 ( )( )Sqrt 0.3960 0.629    
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, ,  Ans6 ( )( )Cos 17 ( )( )Sqrt 0.9145 0.956    
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 TrigonometryExercise4 Answers for No.11996

, ,  Ans1























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
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
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


.1








( )Cos 75 

2 3
4

2
4

.2
















Sin

7 
12


2
4

2 3
4

.3














Tan


12

2 3 .4














Cot 

19 
12

2 3

.5 ( )( )Csc 255  2 3 2 .6














Tan 

23 
12

2 3

.7








( )Sin 165 

2 3
4

2
4

.8








( )Cos 345 

2
4

2 3
4
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













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


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







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



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
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


.1










( )Tan 20 ( )Tan 40

1 ( )Tan 20 ( )Tan 40
( )( )Tan 60 3 .2















Sin

7 
30







Cos


15







Cos

7 
30







Sin


15















Sin


6

1
2

.3















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.4








2







Cos


12

2

1
















Cos


6

3
2

.5


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.6










( )Tan 85 ( )Tan 25

1 ( )Tan 85 ( )Tan 25
( )( )Tan 60 3

.7






( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30
1
2

.8








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.9








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.10
















Cos


3







Cos


12







Sin


3







Sin


12

















Cos


4

2
2
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
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.1








( )Sin 

39
8

.2








( )Cos  

3
2

.3








( )Tan 

39
5

.4








( )Sin    

5
16

3 39
16

.5








( )Cos   

39
16

5 3
16

.6








( )Tan   

5 3 13
9

16 3
9

.7








( )Sin 2 

3
2

.8








( )Tan 2  

5 39
7
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.1








( )Cos  

3
2

.2








( )Sin  

2 6
7

.3








( )Tan  

3
3

.4








( )Sin   

5
14

3 6
7

.5








( )Cos   

6
7

5 3
14

.6








( )Tan    

40 2 3
51

49 3
51

.7






( )Cos 2 
1
2

.8 ( )( )Tan 2  20 6
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, ,  Ans5 ( )( )Cos 15 ( )( )Sqrt 0.9330 0.966    
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M
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, ,  Ans6 ( )( )Sin 37 ( )( )Sqrt 0.3620 0.602    
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 TrigonometryExercise4 Answers for No.12889
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.2






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.3








( )Sin 57 ( )Cos 12 ( )Cos 57 ( )Sin 12









( )Sin 45

2
2

.4








2







Cos


8

2

1
















Cos


4

2
2

.5








( )Cos 22.5

2
( )Sin 22.5

2 







( )Cos 45

2
2

.6








1 2







Sin


12

2 















Cos


6

3
2

.7




























Tan

7 
36







Tan


36

1






Tan

7 
36







Tan


36

















Tan


6

3
3

.8






( )Sin 20 ( )Cos 10 ( )Cos 20 ( )Sin 10







( )Sin 30
1
2

.9 ( )( )Cos 102 ( )Cos 12 ( )Sin 102 ( )Sin 12 ( )( )Cos 90 0 .10
















Cos


12







Cos


6







Sin


12







Sin


6

















Cos


4

2
2
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.1








( )Sin 

7
4

.2








( )Cos 

3
2

.3








( )Tan 

7
3

.4








( )Sin   

3
8

3 7
8

.5








( )Cos    

7
8

3 3
8

.6








( )Tan    

4 3
5

3 7
5

.7








( )Sin 2  

3
2

.8 ( )( )Tan 2  3 7
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







( )Cos  

2 2
3

.2








( )Sin  

35
6

.3








( )Tan  

2
4

.4








( )Sin   

35 2
9

1
18

.5








( )Cos   

2
9

35
18

.6








( )Tan   

8 2
3

35
3

.7






( )Cos 2 
7
9

.8








( )Tan 2  

35
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 TrigonometryExercise4 Answers for No.12891
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.1








( )Sin 75 

2
4

2 3
4

.2
















Cos

7 
12


2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4 ( )( )Csc 255  2 3 2

.5














Sec 


12

 2 2 3 .6








( )Cos ( )-285  

2 3
4

2
4

.7
















Sin

13 
12


2
4

2 3
4

.8 ( )( )Tan ( )-75   2 3
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.1




























Tan

17 
36







Tan

5 
36

1






Tan

17 
36







Tan

5 
36















Tan


3

3 .2








2 ( )Cos 15

2
1









( )Cos 30

3
2

.3 ( )( )Sin 105 ( )Cos 15 ( )Cos 105 ( )Sin 15 ( )( )Sin 90 1 .4
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
























Tan

5 
36







Tan


36

1






Tan

5 
36







Tan


36

















Tan


6

3
3

.5 ( )( )Cos 70 ( )Cos 20 ( )Sin 70 ( )Sin 20 ( )( )Cos 90 0 .6
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.7
















Sin

11 
60







Cos


15







Cos

11 
60







Sin


15

















Sin


4

2
2

.8






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.9








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.10






2







Sin


12







Cos


12















Sin


6

1
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


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

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


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









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
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.1








( )Sin 

7
4

.2








( )Cos  

55
8

.3








( )Tan  

3 55
55

.4








( )Sin    

7 55
32

9
32

.5








( )Cos    

3 55
32

3 7
32

.6








( )Tan    

55
9

4 7
9

.7








( )Sin 2 

3 7
8

.8








( )Tan 2  

3 55
23
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.1








( )Cos 

2 6
5

.2








( )Sin  

35
6

.3 ( )( )Tan  35 .4








( )Sin   

1
30

35 6
15

.5








( )Cos    

6
15

35
30

.6








( )Tan    

25 35
11

72 6
11

.7






( )Cos 2 

23
25

.8








( )Tan 2  

35
17
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, ,  Ans5 ( )( )Cos 9 ( )( )Sqrt 0.9755 0.988    
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 TrigonometryExercise4 Answers for No.12917
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.1








( )Sin 75 

2
4

2 3
4

.2
















Cos


12


2
4

2 3
4

.3 ( )( )Tan 105  2 3 .4
















Sin

19 
12

 
2
4

2 3
4

.5 ( )( )Cot ( )-255   2 3 .6














Csc 

23 
12

2 3 2

.7 ( )( )Tan ( )-165  2 3 .8








( )Cos ( )-285  

2 3
4

2
4
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
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.1








( )Cos 20 ( )Cos 25 ( )Sin 20 ( )Sin 25









( )Cos 45

2
2

.2








2







Sin


8







Cos


8

















Sin


4

2
2

.3








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.4














Sin


18







Cos


9







Cos


18







Sin


9















Sin


6

1
2

.5










( )Tan 48 ( )Tan 12

1 ( )Tan 48 ( )Tan 12
( )( )Tan 60 3 .6 ( )( )Cos 102 ( )Cos 12 ( )Sin 102 ( )Sin 12 ( )( )Cos 90 0

.7


















Cos


12

2






Sin


12

2 















Cos


6

3
2

.8













2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.9
















Sin

17 
36







Cos

5 
36







Cos

17 
36







Sin

5 
36

















Sin


3

3
2

.10








1 2 ( )Sin 15

2 







( )Cos 30

3
2
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




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.1








( )Sin 

65
9

.2








( )Cos 

2 2
3

.3








( )Tan  

2
4

.4








( )Sin    

4
27

2 65 2
27

.5








( )Cos   

8 2
27

65
27

.6








( )Tan   

4 65
7

18 2
7

.7






( )Cos 2 
7
9

.8








( )Tan 2  

8 65
49
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.1








( )Sin 

2 2
3

.2








( )Cos  

3
2

.3 ( )( )Tan  2 2 .4








( )Sin   

1
6

2 3
3

.5








( )Cos   

3
6

2
3

.6








( )Tan   

8 2
5

9 3
5

.7








( )Sin 2 

3
2

.8








( )Tan 2 

4 2
7
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, ,  Ans5 ( )( )Cos 14 ( )( )Sqrt 0.9415 0.970    
















M
U
T

, ,  Ans6 ( )( )Sin 4 ( )( )Sqrt 0.0050 0.070    













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 TrigonometryExercise4 Answers for No.13099

, ,  Ans1

































.1








( )Cos 105 

2
4

2 3
4

.2
















Sin


12


2 3
4

2
4

.3 ( )( )Tan 75 2 3 .4














Cot

19 
12

 2 3

.5








( )Cos 255 

2
4

2 3
4

.6 ( )( )Csc ( )-15   2 3 2

.7














Tan

13 
12

2 3 .8








( )Sin ( )-75   

2
4

2 3
4
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, ,  Ans2















































.1






























Tan

11 
36







Tan


18

1






Tan

11 
36







Tan


18















Tan


4

1 .2














Sin


18







Cos


9







Cos


18







Sin


9















Sin


6

1
2

.3 ( )( )Cos 75 ( )Cos 15 ( )Sin 75 ( )Sin 15 ( )( )Cos 90 0 .4


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.5








1 2 ( )Sin 15

2 







( )Cos 30

3
2

.6















2 ( )Tan 15

1 ( )Tan 15
2









( )Tan 30

3
3

.7








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.8








( )Cos 40 ( )Cos 10 ( )Sin 40 ( )Sin 10









( )Cos 30

3
2

.9










2







Cos


12

2

1
















Cos


6

3
2

.10










( )Tan 50 ( )Tan 10

1 ( )Tan 50 ( )Tan 10
( )( )Tan 60 3
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, , , ,  Ans3

































.1








( )Sin 

3
2

.2








( )Cos  

5
3

.3 ( )( )Tan  3 .4








( )Sin   

1
3

3 5
6

.5








( )Cos    

5
6

3
3

.6








( )Tan    

9 3
7

8 5
7

.7






( )Cos 2 
1
9

.8 ( )( )Tan 2   3

     Ans4

































.1








( )Sin  

65
9

.2








( )Cos  

21
5

.3








( )Tan  

65
4

.4








( )Sin   

65 21
45

8
45

.5








( )Cos    

4 21
45

2 65
45

.6








( )Tan    

25 65
19

81 21
38

.7








( )Sin 2  

8 65
81

.8








( )Tan 2 

4 21
17
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, ,  Ans5 ( )( )Sin 3 ( )( )Sqrt 0.0025 0.052    
















M
U
T

, ,  Ans6 ( )( )Cos 26 ( )( )Sqrt 0.8080 0.899    
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
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 TrigonometryExercise4 Answers for No.13100

, ,  Ans1





























.1
















Sin

5 
12


2
4

2 3
4

.2








( )Cos 105 

2
4

2 3
4

.3 ( )( )Tan 15 2 3 .4 ( )( )Tan 195 2 3

.5
















Sin 

19 
12


2
4

2 3
4

.6 ( )( )Cot 255 2 3

.7














Sec 

11 
12

 2 3 2 .8














Csc 

5 
12

 2 3 2
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.1














Cos

4 
9







Cos


9







Sin

4 
9







Sin


9















Cos


3

1
2

.2










( )Tan 42 ( )Tan 12

1 ( )Tan 42 ( )Tan 12








( )Tan 30

3
3

.3






















2







Tan


12

1






Tan


12

2















Tan


6







Tan


6

.4






2 ( )Sin 15 ( )Cos 15







( )Sin 30
1
2

.5










2







Cos


12

2

1
















Cos


6

3
2

.6








1 2 ( )Sin 22.5

2 







( )Cos 45

2
2

.7
















Cos


8

2






Sin


8

2 















Cos


4

2
2

.8








( )Sin 35 ( )Cos 25 ( )Cos 35 ( )Sin 25









( )Sin 60

3
2

.9




























Tan


10







Tan


15

1






Tan


10







Tan


15













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

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
6

3
3

.10
















Cos


9







Cos

5 
36







Sin


9







Sin

5 
36

















Cos


4

2
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.1








( )Sin 

65
9

.2








( )Cos  

15
4

.3








( )Tan 

15
15

.4








( )Sin    

65 15
36

1
9

.5








( )Cos    

15
9

65
36

.6








( )Tan   

81 3 5
175

64 13 5
175

.7






( )Cos 2 
7
8

.8








( )Tan 2  

8 65
49
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







( )Cos  

2 6
7

.2








( )Sin  

3
2

.3








( )Tan  

5 6
12

.4








( )Sin   

5
14

3 6
7

.5








( )Cos    

6
7

5 3
14

.6








( )Tan    

40 2 3
51

49 3
51

.7








( )Sin 2  

3
2

.8 ( )( )Tan 2  20 6
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 TrigonometryExercise4 Answers for No.13139

, ,  Ans1































.1








( )Sin 75 

2
4

2 3
4

.2
















Cos


12


2
4

2 3
4

.3














Tan

7 
12

 2 3 .4 ( )( )Tan ( )-285  2 3

.5
















Cos 

7 
12


2
4

2 3
4

.6














Cot

23 
12

 2 3

.7 ( )( )Csc 165 2 3 2 .8














Sec

13 
12

 2 3 2
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.1








2 ( )Cos 22.5

2
1









( )Cos 45

2
2

.2














Sin


12







Cos

5 
12







Cos


12







Sin

5 
12















Sin


2

1

.3










( )Tan 50 ( )Tan 10

1 ( )Tan 50 ( )Tan 10
( )( )Tan 60 3 .4









1 2







Sin


8

2 















Cos


4

2
2

.5








( )Cos 15

2
( )Sin 15

2 







( )Cos 30

3
2

.6










( )Tan 40 ( )Tan 10

1 ( )Tan 40 ( )Tan 10








( )Tan 30

3
3

.7














Sin

5 
9







Cos


18







Cos

5 
9







Sin


18















Sin


2

1 .8






















2







Tan


8

1






Tan


8

2















Tan


4







Tan


4

.9








( )Cos 20 ( )Cos 25 ( )Sin 20 ( )Sin 25









( )Cos 45

2
2

.10






2







Sin


12







Cos


12
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












Sin


6

1
2
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
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
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
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
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


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









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
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


.1








( )Sin 

55
8

.2








( )Cos  

3
2

.3








( )Tan 

3
3

.4








( )Sin    

3
16

55 3
16

.5








( )Cos    

3 3
16

55
16

.6








( )Tan    

3 55
7

16 3
7

.7








( )Sin 2 

3 55
32

.8 ( )( )Tan 2  3
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.1








( )Cos 

2 6
7

.2








( )Sin 

3
2

.3 ( )( )Tan   3 .4








( )Sin   

3 6
7

5
14

.5








( )Cos    

6
7

5 3
14

.6








( )Tan   

49 3
51

40 2 3
51

.7








( )Sin 2  

20 6
49

.8 ( )( )Tan 2  3
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 TrigonometryExercise4 Answers for No.13411
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











.1
















Cos

7 
12


2
4

2 3
4

.2








( )Sin 15 

2 3
4

2
4

.3 ( )( )Tan 75 2 3 .4 ( )( )Sec 345  2 2 3

.5














Csc 

23 
12

2 3 2 .6
















Cos 

13 
12

 
2
4

2 3
4

.7 ( )( )Cot 195 2 3 .8














Tan

11 
12

 2 3
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.1
















Sin

19 
60







Cos


15







Cos

19 
60







Sin


15

















Sin


4

2
2

.2














Cos

4 
9







Cos


9







Sin

4 
9







Sin


9















Cos


3

1
2

.3










( )Tan 25 ( )Tan 20

1 ( )Tan 25 ( )Tan 20
( )( )Tan 45 1 .4











2







Cos


12

2

1
















Cos


6

3
2

.5








2 ( )Sin 22.5 ( )Cos 22.5









( )Sin 45

2
2

.6


















Cos


8

2






Sin


8

2 















Cos


4

2
2

.7










( )Tan 50 ( )Tan 20

1 ( )Tan 50 ( )Tan 20








( )Tan 30

3
3

.8















2 ( )Tan 22.5

1 ( )Tan 22.5
2 ( )( )Tan 45 1

.9
















Sin


18







Cos

5 
18







Cos


18







Sin

5 
18

















Sin


3

3
2

.10








1 2 ( )Sin 15

2 







( )Cos 30

3
2
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
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.1








( )Cos 

3
2

.2








( )Sin  

2 14
9

.3








( )Tan 

2 14
5

.4








( )Sin    

5
18

14 3
9

.5








( )Cos    

5 3
18

14
9

.6








( )Tan   

81 3
19

40 14
19

.7






( )Cos 2 
1
2

.8








( )Tan 2  
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